TECNOI.\UTOI\W MGP RIIGHRESHFSIT As3

MGP Series Compact Guide Cylinder
ASESORAMIENTO Y SERVICIOS

3T#% Ordering Code

MGP — %—T x@

RILE EiEp 3 ke fTig

Y it M:if i Cylinder Bore Stroke
Series Code LB % = ik 12- 4 100mm 10~200mm
MGP:Attach Type of Bearing

magnet Type M:Slide Bearing

L:Ball Guide Bearing

#13% Specification MGPM25 x 20/

A iZ/Bore(mm) 12 16 20 25 32 40 50 63 B0 100

T {E4r R/Working Medium % S/ Air
h{ER L /Motion Pattern # # % (Double-action
{REH E H/Ensured Pressure Resistance 1.5Mpa(15.3kgflcm’)
1 75 {8 F £ 1/Max.Operating pressure 1.0Mpa(10.2kgf/cm’)
i & T{€[E H/Min. Operating pressure 0.12Mpa(1.2kgticm’)
TRBANT (IR A /Ambient and Medium Temperature -10~+60C
75 % [ /Piston Speed 50~500mmis 50~400mm/s
£ ih/Buffer 5 8 /Rubber Cushion
{742 12/ Tolerance of Stroke i
$hR/Bearing i sh iR /RE% 5 5 #K (Slide bearing/ball guide bdaring)

E!ﬁ%ﬁiﬂoﬁlﬁ i shihR/Slide Bearing +0.08° +0.07° +0.06° +0.05° +0.04"
Piston rod Nonwrotating 5k S [5)#ifuBall Guide Bearing 40.10° +0.09° +0.08 +£0.06° +0.05"
98 O12/Port size M5 0.8 G1/8" G1/4" G3/8"

412~ 6 25MGP R 5l/Series
Coetnand =M cmptn ) WL

4 ¥YHidepth) YL 4 MNBTLOMOugh] XM Soction ) [coumlerbare ceplvOt) L

ey e Z] Ly nfi m
1] " @o 3

E=A
PR

+0.00
1

B Ss e 9

=

A8

I
A
o
T Tr e IrT

S Wy S—
1
. |
8 |

&
——0 O — E 1 ¢© s s
Y =l [ - - R —— i Ehlet
& = Q n m |< qj s
_;l = %\ XX Saction] cm]qmufo["—g—"{ 1 I'E.E M 2P 2/ - e SR
wal FB e E =
Beti iSucke
e

MGPM. MGPL# 5 R <t #&/Common Dimensions Sheet

B2/ | #RiME7H/(mm)
Bare sizs | Standard stroke B C DA FA FB| G GA/GB H HA J K L MM ML NN OA OB OL P PA PBPW Q R 8

12 10203040, 42 29 6 8 5 26 11 75 58 M4 13 13 18 M4x07 10 M4x07 43 8 45M5x08 13 8 18 14 48 22

16 5075100 46 33 8 8 5 30 11 B 64 M4 15 15 22 M5x08 12 M5x08 43 8 45M5x08 15 10 19 16 54 25
20 %;%_51‘%2-252» 53 37 10 10 & 36 10585 83 M5 18 18 24 M5x0.8 13 M5x0.8 56 95 55 RC1/8 125105 25 18 70 30
25 150175200 53.537.5 12 10 6 42 11.5 9 93 M5 21 21 30 M6x1.0 15 M6x1.0 56 9.5 55 RC1/8 12.513.528.5 26 78 38
B.;E;f:;e g;ﬁnfj-:;tf;gs:k}e T|U[VA VB :uﬂu'lawm;mwf:wwu 125K Fst o less 30 ML Fal or less MIU.'n:bB?'-JJH 125851 Futor less X XA XB XC XL ¥ YL 2
12 10203040, 56 41 50 37 20 40 : 15 25 i 23 3 35 3 6  M5x08 10
16 5075100 g2 46 56 38 24 44 : 17 27 2 24 3 35/ 3 6  M5x08 10
20 %%i%gﬂfg- 81 54 72 44 24 44 120 29 39 77 28 |3 (353 |6 | MBx1.0 12 |17
25 150,175.200 91 64 82 50 24 44 120 29 9 77 4|4 (453 |6 | MBx10 |12 |17
MGPG! i #h3#7%/Slide bearing) MGPL{:R S #1485 /Ball bushingbearing) MGPM (i #)$47&/Slide bearing) MGPL{iR5h % 547 Ball bushingbearing)
bt A E A E b A E
Bore size sost | T 100st [Eﬁn.l Sows [100st< 20ati=] 3T [ 100m 30stis JLC 0st<  Boresize 508t Sou . 200st DBW:: s Room< 30w (IO A0SR buoet EB-?W ol L T

12 [42/605 85 8 0 185 43 43 55 85 6| 1 | 13 | 43 20 53 84512216 0 315 69 63 80 104 122 10 10 27 51 69
16 46 645 95 10 0 185 49 49 65 95 8| 3 19 49 25 535 85 122 20 0 315 685 69.580.51045122 13 16 32 51 685

HIDRAULICA - NEUMATICA - ELECTRONICA | www.techoautomat.com
(O 1135852811 “Q~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lantis Bs.As.



TECI\IOI.\UTON\W MGP RSB EHSHSII Asa

MGP Series Compact Guide Cylinder
ASESORAMIENTO Y SERVICIOS

50 R Overall Dimensions $32~$63MGP E5l|/Series

& FOARTL( j
A-¥YE dapin YL Wit L7 MR dapih ) ML
RX R Section) 4NN TUmrough) XX Section) 2 WA
_— . —
L1 5 10) | o
7 3 SR
2 & # ] 5 é
i % d B -t~ x| ?|
I ——— r . © ) = :
—] i ¢
AN e
= £ 30 B depth) XL (0]} bt 5 |24 e
F Wk @ o8 =
B | L8 T ot~ | ! I NPT
FA | FB Cof § I Siroke) E
B f3 I Sroke)
MGPM. MGPL3t[E R #/Common Dimensions Sheet LU0

EI12/ AT (mm)

ER il | Slancia ke e e R e e e L e e LS | | Rl

32 595375 16 12 10 48 125 9 125 112 M6 24 24 34 MBx125 20 MBx125 66 11 75 RC1/8 7 15 34 30
40 ";%-g’f:»;sﬂ- 66 44 16 12 10 54 14 10 14 120 M6 27 27 40 M8x125 20 M8x125 66 11 7.5 RC18 13 18 38 30
50 150175200 72 44 20 16 12 64 14 11 12 148 M8 32 32 46 M10x15 22 M10X15 86 14 O RC14 9 215 47 40
63 77 49 20 16 12 78 165135165 162 M10 39 39 58 M10x15 22 MI0xX15 86 14 © RC1/4 14 28 55 50
B2/ | FHEFIE(mm) WA i WB
Bore size StandardstrukaR e L e e T 50,75,100st OB MUL | o545 50,75,100st 100 ML X XA |XB XC AL Yy YL | 2

32 96 44 110 78 98 63 24 48 124 33 45 83 42 (4 (453 6 | M8x125 |16 (21
40 2;%’32'27?' 104 44 118 86 106 72 24 48 124 a4 46 84 50 4 45 3 |6 | MBX125 |16 |22
50 150,175,200 130 60 146 110 130 92 24 48 124 36 48 86 66 5 6 4 8  MI0x15 20 24
63 130 70 158 124 142 110 28 52 128 as 50 88 80 5 |8 4 B | MIOX15 |20 |24
MGPMI i Eh$h & /Slide bearing) MGPL(R 3) %A%/ Ball bushingbearing)
i A 08 E &I/ A 08 E
Bore size S0st B0st< 20081 20081 S50st= |S0st=200st= 20081< Bore size S0st==  S0s1<100st= W0s-<200st=| 20051+ 50st= 5S0s1< 10088 J00st<200st = 20051«
32 ar 102 140 | 20 375 | 425 80.5 32 81 98 118 140 |16 215 38.5 58.5 80
40 a7 102 140 20 kil 36 74 40 81 98 118 140 16 15 32 52 74
50 106.5 118 161 | 26 | 345 46 89 50 93 114 134 161 |20 | 21 42 62 89
63 106.5 118 161 25 205 41 B4 63 93 114 134 161 20 16 37 57 B84

b2 R 5t Overall Dimensions $ 80~ ¢ 100MGP R 5l/Series

XXM S action)

ANV Eid nul LN el XXM Soction) = i o - "lg?;‘:ﬂ } = A W {dapah) ML
{ 1 (Courbarbons depth IOL
77/ q° il
71 § oy &
¢ = § X
3 i &
=} % - 3 <
B 1 41 (O) 1B y 3
— Il = e
= TR ( [o o )
== ® TP _ 9 e,
- =t AL N dope) XL i = = F’! F’I i i
Fal FB o 1] WY Sk | Py - —
- e |

42/ AFAMEITIR(mm)
Beraslsa| Standar sioke B C|DAFA|FB| G|GA/GB/ GC H HA| J |[LA(JB | K | L MM ML NN OA OB OL P PA |PB

80 21%301-2755- 955565 25 22 18 915 19 155145 202 M12455 38 7.5 46 54 MI12x175 30 M12x17510.617.5 8 RC3/8 145255
100 150175200 116 66 30 25 25 111.5 23 19 18 240 M14 555 45 10.5 56 62 M14xX20 32 M14xX20 125 20 8 RCH/817.5 325
{2/ | FEITI(mm) WA WB
Bore size Standard strokg' V| QR S | T | U |VAIVB o 50751008 00stMiE |26 st | 50,75,1000 | O S RUE il o e o e it b
80 21%3%2?55- 74 52 174 75 198 156 180 140 28 52 128 42 54 92 100 6 | 7 |5 10 M12x1.75 24 | 28
100 150175200 89 64 210 90 236 188 210 166 48 72 148 35 47 85 124/ 6 7 |5 10 Mi4x20 28 11
MGPM( iR 8§l 4 /Slide bearing) MGPL (iR 8) % ) $h7%/Ball bushingbearing)
1% A 0B E 1% A - E
Bore size 80s1 S0st< 200t 200si 50s1= |S0st<200si>| 20051 Bore size 508t= | 25si<S50st>  S0ei<200si> | 200sl< 505t= |Z8et<50si> B0w<200si> 2008l
80 15 | 142 193 30 185 455 = 965 80 1095 130 160 193 |25 13 | 335 | 635 | 965
100 127 | 162 | 203 | 38| 21 46 87 100 121 147 180 203 30 5 31 64 87
HIDRAULICA - NEUMATICA - ELECTRONICA | www.techoautomat.com

(O 1135852811 “Q~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lantis Bs.As.



4
TECNOI.\UTDI\W RSQ RIBEHSIL Ao

RSQ Series Stopper Cylinder(Fixed Mounting height)
ASESORAMIENTO Y SERVICIOS

RSQ — — [20] x[15]—[D [R]

e T |

‘ RS Rod end Type

RES BE HiZ T2 @i Fi2 8- W ©20-950) Blank Round bar type(® 20-©50)

RSQ: B4 Bl Cylinder Bore Stroke O3 S i K:Chamlored Type{ 20050}

RSDO:M A  FEAEY 200 20mm TLEA (P B2 ) L_"mm‘“e AR 52050 R:Roller typel ® 20-250)

Series Code Installation 324 32mm o028 (30 3 E ) 2 . ( R (< 32-0 50) L:Level type with shock absorber(® 32-50)

RSQ:Basic Typa  Bihole e i Action iigffifﬂml AR E) [E;L;az\-el_ 1;3;; with adjustable shock absorbar

s ::;2"“' e e g:“n';'l’:‘a:ﬂ:“ CHLA AR (A T ARRA. C:Level type with adjustable shock absorber,

{with spring ratum) Ll E] :& | |[¢32-~_1-501 with cancel cap(® 32- 9 50)
Tsingle action D:ALHF TR 9L (P M T N . D:Level type with adjustable shock absorber,
{\;uilh spiing extent) E!1E§lft-t. 3.2..1-501 with lock mnrlchzln-s!ﬂ[ﬂ" 32-350)
EMARR(AETARRE. E:Level type with adjustable shock absorbar,
#M#: Specification WL R AR E)(P32-950)  with cancel cap & lock(®32-50)

A {Z/Bore(mm) 12 16 20 32 40 50
sh{EB! . /Motion Pattern Tah, TEh(P9 W59 5F), # 3h(39 5 % 1 Y Double acting, Double acling with spring loaded, Single acting(Spring extend)
/P luid 2 S /Air
{FiEM E 51 /Ensured Pressure Resistance 1.5Mpa(15.3kgflcm’)
it %5 & F JE 1 /Max.pressure 1.0Mpa(10.2kgflcm’)

R4 305 (R fE /Ambient and fluid temperature -10~+70°C 5 81 IF 3 5 58 7 (Without auto switch:No freezing)}+60°C
% 1%/Bufferin 4 44§ B 4 i (Rubber bumper)
g
{724+ £/Tolerance of stroke A
*i8i%/Lubrication T ¥ /Not required
2 #/Mounting WFL. 78 A®EThrough-hole,Both ends tapped common
198 O1%/Port size M5 0.8 RC(PT1/8)
MSQ RIESREFXERIENSI
MSQ Series Rotary Table,Rack & Pinion Cylinder
iTHE Ordering Code
mMsa| — [B] x [10] — [A] — |8
RIS % 30 P A AT AR SEpHFHE
Series Code Basic Type Size Code CEFTAT 1 Always with magnet
10~200mm A:With Adjustable Angle Screw

R:With Shock Absorber

#11& Specification

A iz/Bore(mm) 10 20 30 50 70 100 200
{&# M i &/Fluid % (7 & #l)Air(non-lube)
15 W {38 B E h/ 68 f AR #E/With adjustment bole 1Mpa(10.2kgf/cm’)
Max.pressure i [ B % 8/R:With Shock Absorber 0.6 MPa (6.1kgf/cm’)it/Nole
MREREH A 5/Basic type 0.1 Mpa(1.0kgflcm®)
/Min.pressure 5§ £ &/High precision type 0.2 Mpa 0.1 Mpa
IR FNE (%8 B /Ambient and fluid temperature 0~60°C({8 3 % {No freezing)
: U0 fa [ 28 42 /With adjustment bole 1® B 4 0/Rubber bumper
£ ih/Cushion -
7 i [ 0% % 2 /R:With Shock Absorber % g/Shock absorber
ff B i % 76 M/Angle adjustment range 0-190T
1% % RESE f E/Maximum rotation 190°C
i& % 1 2/Piston bore $15 18 21 +25 28 $32 B 40
EEOR & FL/End ports M5x0.8 RC1/8"
Port size M FL/Side ports M5x0.8

B RAERAENRERXLITFHRERT.
Note:The maximum operating pressure of the actuator is restricted by the maximun allowable thrust of the shock absorber.

HIDRAULICA - NEUMATICA - ELECTRONICA | www.techoautomat.com
(O 1135852811 “Q~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lantis Bs.As.



TECI\IOI.\UTOI\W

ASESORAMIENTO Y SERVICIOS

MsSQ RIHSRENXEREDSI
MSQ Series Rotary Table,Rack & Pinion Cylinder

5ME R =T Overall Dimensions 3 A & Basic style: MAQBLIA

A61

$10, 420, $ 30, $ 50

+ ) @
I, = b
55, G 8 wis
8-WD F(depth) WE(BF &%/ '?qf’a@ o) A DDE ﬁ:!ﬁ . BB
ircumiarence:t equivalents) %, (3 - ‘_ Wog |l ™ 2-PHEOR
4-JJ F{depth) 8 B Z 5 " 2'”*“2‘3‘]"”“ ! nER =t/ Port Size)
) o] o 5 / T
A L] = @ @ =
EME" 1'. @ DFill Al % B
k- e (Through) | BE
- B AL ) | lea o0g PA Eﬁ
M%&E?Lf BO Wi (Max.approx.) SU s e
Piping port (¥ BiPlugged) (mm)
R~tiSize FU g o -
i LT o o o ¢~n¢
With internal shock absorber 0 : a0
MAQBLIR 20 37 Lz &>
30 347 View o5g
(Max.approx.) FU
: : 50 517
R=F3% Dimension Sheet (mm})
poliEl 'AA A AU AV AW AX AY BA BB BC BD BE CACB D DD DE DF DG FA FB FC FD H J JA JB
10 554 50 86| 20 (155 12 4 95 345 278 60 27 45 28.5 46h9 46h9 20H9 5 15H9 8 4 3 45|13 68 11 66
20 70.8 65 106|275 16 (14 5 12 46 30 67 34 6 305 60h9 | 61h9 28H9 9 17H9 10 6 25 65 17 B6 14 85
30 754 70 |[106| 29 185 14 | 5 12 S0 32 84 37 65 335 65h9 | 67h9 32H9 9 22H9 10 45 3 65 17 86 14 85
50 854 80 14 | 38 22 |19 | 6 (155 63 375 100 50 10 37.5 75nh9 | 77Th9 3I5H9 10 26H9 12 5 3 |75/|20 105 18 105
BDET.IQ%LB JC JD JJ JU P Q S SDSESF SU UU WA WBWC WD WEWF XA XB XC YA YB YC
10 MB8x125 12 M5x08| MB8x1 M5x08 34 92 9 13 45 177 47 15 3H9 35 M5~x0B & 32 27 3H9 35|19 3H9 35
20 MI10X15 15 MExX1  MI10xX1 M5x08 37 117 10 (12 60 25 54 205 4H9 45 MEx1 10 43 36 4H9 45| 24 4H9 45
30 M10X15 15 MEx1 MI0x1 Rc1/B 40 12711514 65 25 57 23 4H9 45 MBEx1 10 48 39 4H9 45 28 4H9 45
50 M12X1.75 18 MBx1.25 M14X15 Rc1/8 46 15214515 75 314 66 265 5H9 55 MB8x125 12 55 45 5H9 55 33 5H9 55
$pE R Overall Dimensions 2 % # Basic style:MAQBLIA $70, $ 100, $ 200
’#!\'?l % 0D EE
: % 1T = AB
SWD Widepth) WEH TG 2.JC F{depth} JO ¢ = 3E 2.Re 1B
C-mmrerani.uzanﬂgivmnls] 2-M5 > 0.8 O &/ “OE, gﬁs & &
ing port ! !
4-JJ F(depth) JK (B Plugged) ? T
2-Jl7L(Throw 7 = .
= e 5
(Counterbore depth) JB ol 2
=f o THIS '
D DF®TL
1- 1L (Through) “%g
{ﬂ]- e ) 206 Pgss
@ (Max.approx ) SU| s "H“."s
(i) G. .e.;#..
5 6 ih 3%/ 3 R=tiSize FU | va llz %gg
With shock absorber ) 70 55.4 gEg
MAQBLIR e 100 555 View =8
(Max.approx.) FU
- - 747
R~ Dimension Sheet Zud {mm)
pol/ 'AA AB A AV AW AX AY BA BB BC BD BE CB/ D DD DE DF/ DG FA FB FC FD H | J JA B
70 90 92 B84 42 255 27 8 17 75 445 110 57 36 88h9 90h9 46H9 16 22H9 125 5 |35| 6 22 104 17.5 105
100 101 102 95 | 50 295 27 8 17 85 505 130 66 42 98h9 100n9 56H9 19 24H9 145 6 35|12 | 27 (104 |17.5(105
200 119 120 113 680 385 36 10 24 103 655 150 80 57 116h9 118h8 64H9 24 32HO 16.5 8 | 55|15 | 32 (142 20 (125
BB/ ) U W K JU Q S SDSFSUUUWAWBWC WD WEWF XA XB XC YA YB YC
70 M12X1.75| 18 MBX1.25 10 M20x15 53 170/ 18 79 34.2 75 325 5H9 55 MBxX1.25 (125 67 654 5H9 35 39 (EH9 35
100 M12x1.75 18 MBx125 10 M20x15 59 189 22 90 343 B6 375 6H9 65 M10x<155 /145 77 59 6H9 45 49 EH9 45
200 M16x2 | 25 M12X1.75 13 M27x15 74 240 29 108 40.2 106 44 B8H9 85 M12x175 165 90 69 8H9 45 54 BHI 65

HIDRAULICA - NEUMATICA - ELECTRONICA

(O 1135852811

“Q~ 114241 1370. 1142254987

www.tecnoautomat.com
Direccion Rio de Janeiro 2740 Lanus Bs.As.



